§SS
SAS

S,

3.5 QR3A

5 Given: E’:‘ KjH_
HG = HM,
/5=/6

Conclusion: ATHG = AKHM , \\3><::;
Y

IR
LS T Ll
JLKHG = LG
JPAN] Ch L KHM

He = fu

L ANJHE = ALHM

\.C*Muuw
Q.lebu.)

>, Rellerie
4. Add (2,3
S Bued

b. SAS(IuS)
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12 Given: HO = MO, M
JO = KO; r \\
HJ is an altlt.ude of AHJK. _| (3 { _‘JE J
MK is an altitude of AMK]. = &~ o
Prove: £1 = /2 L/ *’-H“‘HJK
= R
Ho 2N [, Guwene
LD E LY Q. Vertls = 245
Jo ¥ —\:5 3. Guseno
| A YOI T AMo H, SAS
L W32 M 5. cpdC
D LMK ALMKI MZs T, ok > pwtis
[ LHIKF L M_Q 8. W8/
JIL 2K A
CARILE AULT iDL QAS
L2 L | (L CpaTC
CHYs
Jurl = =45
S AS
Oyl
. Qf S
SNEN
RS
Ls= = L
C/]O(/‘L

S wholNeck



18 Given: NR =NV N

P and Q are mdpts.
LR=/V P Q
e, R v
Prove: AXST is is0s, 5 T
1 NR=NV 1 G ven~
9 PandQaremdpts. 2 G e

b

3 NP=NQ,PR=QV 3 —

PY = OX G-M/\-)
4 PX=QX 4 ,
6 NX = X 5 R

TANPX=ANQX 7 SSS
8 LNPX = /NQX g CLCTC "
9 (RPTsuppof ZNPX 9 ST-L=> O L)@@

10 LVQS supp of LNQX 10 BT L => SLPP é; S .
11 ZRPT = 2VQS HZs supp OS2 Ls ==L«

12 LR=/V 19 G ruend

13 ARPT = AVQS 13 IS A«

14 QS =PT U OPCIC

15 XS = XT 5 SuWzact

16 AXST is isos. 1 Q= sos =S \1s5S AN
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\
L AD =2 R .
, ?)Mdpé:/‘«c/ 3

S0

7 Given: AD and CD are legs of isosceles AACD.

B is the midpt. of AC.
Prove: £ A = 2C

_S )
GD X ED u_oéo B RYA

S = B

bwu) D>
DD
A/%DIB = A\ CDPR

LAZ LC

D




14 Given: AB and AC are the legs of isosce- A

les AABC. /\\
m/1 = 5x, e ‘y
m/3 = 2x + 12 / \
Find: mZ/2 /A 2\
(;——N)\_GL (P\(DOG B \F/C B
AE = ATCZ 1508 A oL/v{
L 4= 220 oo Ls o [0S A=
L2 = Y M S
L\ Suppla ST/ “%SQQ@ JARN
Zlsupp LS S v bsHtutes
DY Jrobu“!& <D
= =1b¥%
X = Q%

= 5 (ao+r4) = 120
VP L\ =~ Lo = (P



